Each business activity _
mhymmmlmmﬂmmma
piharwise be unemployed.
(A) provides (B} takes
{C) given (0} sends
. It is too dilficult solve.
(A} Tor (B} to
(c} shall D) can
. The leacher congratulated Gagan
____his suctass inthe axamination.
(&) on B} to
(C) for (D) against
A, Ewcise officials ssized pouches of
whisky ______ abusiraveling 1o
Maharashira.
(A) on (B) by
(G) from oy o
188. The main purpose Skl

establishing these banks is 1o
develop the habil of saving among

tha villagers.
Ay for By by
(€ in o) of

Directions (0. 180 — 196) : Read each
sontencs 1o find oul whether there is any
qmmmalt:nlennruﬂcimulbammh.m
arrorwill b in one parl of the sentence. The
number of that pan is the answear.

180. Aheracomplaint was filed, (A} pofice
taams was given the photograph (B)/
o the accuged from the CCTV footage
{C) recorded at the hotel (D)

161, Training have a (&) positive affect on
:auwpemdnm:cnm
and abilities (D)

JOD-2/MWIK-14

The economic disparity (A)/ have
grown rapidly in B} the era of
globalization (C) and frea marked
lorces (D)

Lack of abiltty to (A read or write is
just () onv: of the barrier that keep (Y
the poor pecple undardeveloped. (D)

182,

164, Rose growers in (A} the cily is

waking up (B)/ to the benefits (C}/ of
eollective action (D)

195, The gentlernan (&) togather with his
(B} wife and daughter (C)/ wera
drowned (D)

196, People have (A) ideas about (B)
aemoplanes in (C)f ancient times (D)

Directions (0. 187 — 200) : Paint out the
correct spelling.

197. (A) genwin
(B) gerwine
(C) genuine
{0} jenuine

198, (A} goverment
(B) povesnment
(C) govamment
(D) goumnament

189. (A) accommodation
(B) accomodation
(G) acomodation
(D) acommodation

200. (A) Dictiorery
(B) Dixnery

(C)y Dictionory
(D) Dictionary

':_M.f

aile

~3-200

.-"3--‘
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176, FATAL
(A) deadly
(B}  immaral
(C} tamiliar
(0} ftederal

177. DECLINE
{A) decorale
(B) accept
(C) beleve
(D) refuse

Directions (. 178 — 180) : Each of the
following 3 items consists of a word in
capital lotters, followed By four words or
group of words, Seled the woed o group of
words that is mos! opposite in meaning to
the word in capital letlers,

178. INSTANTLY
(A) repeatodly
(B) siowly
() immediataly
(D) awkwardly

173, REMIND
[A] memonze
(B) think
(C) forget
(D) daefeat

180. JUSTIFIABLE
(A} unreasonable
B wirtual
() iresponsible
(0] understandable
A

Directions (Q. 181- 183) : In these
questions, which of the phrasas (A), (B) , (C)
and (D) given below each semence should
replace the phrase printed in CAPITAL
LETTERE to make the sentence

grammatically cormect ?

181. OME OF THE FUNCTION OF a
teacher is 1o spol cases of

alagjustment.

() Most of the funclions of
(B} One of the funclions of
(C) Some of the functions
(O} One of the luncliens by

182, FINISHING HIS BREAKFAST, ha
started working on the problem that
had been awaiting disposal for a
longtima,
(A} His breakiast finished
(B} His breakiasi having finkshed
(C) Having flinished his brealkdast
(D) Finished his breakiast

183,  In ouwr friends’ cincla, it 5 cusbhomary

for each of the members TO BUY
THEIR OWHN TICKETS.

(A) Buying their own lickats

(B) Are buying their own fickets
{C1  To buy his own ticket

(D} Mo comection required

Directions (0. 184 — 189) : Pickout e most
effective wordfwords from the given words
1o fill in the blank o make the sanence

meaningfully complete.
184. The government is planning to set

family welfare cantars
for shums in cities.

{A)  another (B) for
iC)] out D) uwp




LT
+ 8y No daily paper has ever found its
way inte this villag.,

%:Myﬂwmhﬂhﬂmwm

Irading centres in the plaing and
clties, s

P:Mulmﬂmmm&m
places.

G : On their return [oumeay they have
news from tha hills,

R: Thnrﬂjrﬁmlhnwmﬂmhuﬂ
Ig from travellars,

s:mmmimmmum
bring news from distant plaing and
cities of india,

The proper saquence should be
4 POSA (B) OSPR

0}y ROPS

mmmiﬂr

wagged itg tail. (S)

The comedt sequence should be

Al PSRO (B) PORS
{C) PRS0 (D) QRSP
This & tha book (P gbous Q0 whigh
(R} Lold you. (S)

The comect sequence should be

(A PRSO B) PSOR
C1 SPOR (D) PORS

Jeats d

——

—_— —-—-—-..—_umfuimﬂ___,_.

JDD-2MW/X-14
170. The fire

Erfare any serious damagg
33 done (P)/ by volunteers Q) wag
eontrolied {R) in the godown. (S)

Thaﬂurrmmqummsmube
(Al RSPQ (B) SRPQ
iC) ROPs (D) QRsP

171. He wantadg i

1o reach his place of wark
(P Who used o travel 20 milgs Qy
to buy a scooter (R) lor his son. (5)

The correct sequence ghould be
(&) OASP (B) PQRS
(C) Rsor D) OsAP

Thacnrreﬂaaqum:hmidba
(A) SORF (B} QRSP
(C) QRPS D) POSR

Directions (0. 173 = 177) : Each of the
following 5 itams consists of 8 word in
capital lettars, followsd by tour words or
mupnfwurds.ﬁahmﬂ'lemrdnrgmmuf
mm:hmmurinmmmmm
word in capital letiars,

173, HOMESICK

{A) Broomstick

(B] House Warming

(C) Lenging for home

(D) Comfartablg

174, MEDITATE

(A) mediate
{Cl celebrate

175. PRIMITIVE
(A) modam
(B) prime
{C) periadical

{B) contemplata
(D) manage

D)  unsophisticated

Crvrey

LAY

saml

A Ha
Board

5. ThT}

ry (Exam)
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L

vl Test of Language : English

T T

and then answar the based onil
Passage

| was vafy fond of the old saldiar in our litthe
1own. He had only ona lag, having lost the
ather somewhere in Assam in 1942, He used
1o tall me about his adventures. He tokd mo
that he had run away from home fo join the
army, He had his firat battle in
H'r&h'b',.'lndmﬂ.mofhh dozans of war
MMMIMMWummdmﬁ
mpﬂrﬂ'ﬂaﬂmaﬂﬂprlmdﬂm
in Burma. He told me again and again how
Mmmhwﬂrﬂmﬂuhtwumm
MMHwhawubiﬂmmmmawa
poisonous snake and he heared b cut oft part of
mnminnrdumswm.mwm tirmie he
got to an Indian cmnpﬂ-emmmumd-
saptic unduulughndtnbenmmmm.m
nmwr.mwmmmhmu.

1681. Thanmmwuwwmmmadd
soldiar because
{A{ He had lost ona of his lags in war
B

Directions (0. 161 —165) : First read the passag
OUESTHONS

He used 1o tall tha author about
his adveniures
(C) He was conlented with his lot
(D} He had bean to many countries

162, wwujdﬂ'eddmldiarmpaalmml
that he walked two hurdred miles ?
Y] He ran away from home 1o join th

ary

(B) He had to cross the Libyan desen

(C) Hehad to escape rom a priscn-of-
war camp

(D) Hewas a sirong soldiar

183, The story of the oid soldier that the

authar Beed most was that about

{A) 'his nenning away irom hiome to join
the army

(B) his first battla in the Libyan desert

(C) the loss of his leg in Assam

(D] his escape from a.Japanesé prison-

1;4. w_mllhr. according to the
, Was
1A unhapgpy about his life

(B) satisfied with his kot

“(C) angry about his fate

o Hﬂhmmmmm

165. fiers leg had 1o be amputated
(A} he had walked 200 miles in two

wounded toe urmed septic
(D) he was shot in the leg while
~ gscaping from the Japanase camp

Directions (G, 166and167) : Inthe tollowing
itams, each

age consists ol six

sentence (S,) and the
| {Sg) are given in the
el four sentences in

pass

In-_I
each have remeved and jumbled up.
These ang P, 0, R and 5. You are

requined 1o the proper sequence of
the four ces and Choose your answer
gL

188, 5‘:vnm_mnnmwurnpmpb
believed that the earth was the centre
of the universe.
%mt—mmw
wiow was right.

Pl (Galileo began to argué that it
wais e

Q ; This belief was supparied by e
A : He said that the earth and other
planets moved round the sun.

5 Hewas imprisonad for voiging this
urarihodoe view,

of-war camp

ﬂummtmﬂhn
ia) PQRS (B) QPRS
() QPSR {D) PSRAO

A 2
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151, ’m’mwm%wm
1A} et B) Wi
(0 =h (C) wEim :E[JJJ ‘;Téﬂ
“2 'iﬁﬁ_r.,_ﬂﬁ___ TR 152 ___qs‘ramgmp
(A) ey (B) 433 A B
(C) wardy D) c) 4 ()
o e I L mﬂ%n_____mm%m
(A # (a) =t B m
B w © & () #fm
C) %fm 154, mm_____mmn )
o) & (A = B # o
o - e I (o) H
(A T (B} T 1585, mﬁﬁum_____!ﬁwW
ic) it (D) iz () @ @) % No.
TR & © w © 3 -
ia) =l B £ 156 TEHER___ Gmd
el O w (A B) % “ﬂjj
= T E C) = O = ;n::-n;
(A) B %fm " 'W?ﬂ'mairar:wzm-m
E] o = (A) wafy (B) ooy
e iR (C)  alerd (0 wafemf
A B) = . ‘Wwﬁr#"aﬁmﬁmmﬁ%?
oy # (A} Ve
3 ﬁ?ﬂ!rﬁmmw .:t;} TR
{A} =m Ve
) =m ;g: :?? D) At
49 "ﬁﬂ'ﬁ:—r”-ﬂqqﬂm y ﬁmﬁ‘%'%———-i’ﬂ'
(A) e (B) whwizam A, (8) s
(C) ey D) whoigs ) = ) +
‘ e 160. 58" T felt 4 iy
@) W (A} we B) ug
(L D) ws
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iw) Testof Language : Hindi
e feR
Tt Wt #1 v ofw e B | 131, W W g
Fevfe #) W (B
121. 5w | (c) wil oy =l
) = | = 132, ‘v’ v o
c) # D) Fzm ) ® W
122, “ge =i fedt g FEa k| (C) smyF= oy EfaE
(a) GEa (B) WaHs
() wgws o v ' ::": "“{:}' &
123. ?;T __'!Ith‘IB] . P o =
cy f o) = 134, 7 fdl aresl A Rl o B
124, P = R (A) ], | ==
(a) e iB) T c) (D)
(C) Faww (D) 135 ‘e W= R e
(A W+ R :mmuﬁ icy (D)
0] W o+ T (D) T+ e e
126, "wA i = fm § 30 e g wm ' - .
e e | 1A (8) i
(A) = B # () em o)
icy #u (D) === 197. =t =i e |
127. mEEEW ________ foEargl W # B #
m A 8) W c # o 3
(<) ﬁ @ % 138, TIFTH YRS W =AM 9
128. ‘fimll v W@ (&) T @
ia =l B BFE ic) i (D) i
icy o) = - o
120 ‘3’ v A 139, T Sl o < A |
) W ® W (A) 8 @
(C) wm (D) smn e W (©)
130, e w1 SETE w 140, W w1 fm )
(a) WETH (B) Wi w = @ #
(C) (D) R © wfm o @

Ar
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107,

108

108,

110,

112,

In a group of travellers, 40 drink
coflee, 30 drink tea, 20 drink both
coffes and tag, What is the tota)
fumber of travallers in the group 7
{Al 40

(B) 38

IC} 50

0} Mone of thesa

A lrain takes 30 minutes t run from
A:uEathn‘nﬂ-f.l'hmelﬂ'lmu

doas it lake to cover the Eame
distance at 40 km/H 7

(Al 40 minutes
(B) 38 minyes
C) 45 minutes
D} 35 minutes

mﬂrf’ﬁ:?
(A) 10
) 8 oy 7

125 ‘
if:};'l' 5—.EI=?

iA) B0
i€y 120

B8 2o
D) 3o

- Bum of two numbers ig 40. Their

ditferance is 20, Thair product i

(A) 1000 B 800
£ 400 D) 100
Average age of laam of 12 playerg

is 26 years. The age of the team
manager is 52 years, Fingd the
average of the team members

cluding managar
(A) 30 yrs, B} 27 yrg,
iC) 29yre (D} 28 yrs,

[113.

114,

118,

117,

118,

118,

T84

M}m-ﬂ-lﬂlﬂhﬂ:ﬁ,ﬂﬂn
hﬁmﬂmﬂthi:a What s the

ralfo between 4 ang  +

Ay 3:2 {B) 5:1
C) 5:4 D) 4:5
3% =5y, x: ym 7

&) 3:5 B) 5:3
< 1:3 M 5:1

15mﬂadihumdmrfmeam1
600 sq.cm (B) 500 sq.cm

IC} 880 sq.om 220 sq.cm

How hwo numbers can be

ﬁn%haa.ii,?m

repatition 7

(A} 12 (B) &

ic) a8 D) 24

P. 0O and R Slarted a business

¥ 5.00,000, ¥ 6,00,000 ang
f"#@". -:ﬁm.y.uhnm
yéar, "’I‘]mﬂﬁpmllﬂsnudb&
distributed to P, Q ang R 7
(A) 4:8:5 (B) 2:10:5
C) 5:4:8 D) 5:8:4
fhn-muammumw
umﬁuhhmuhhml
(&) 12em (B) 10em
C) gem A0y 1aem
Hmmﬁngumhuanhedmm
ina 7
Al 8 | 7
C} s oy 8
V8 + 73T - 13 1529
A) 13 | 15
c] 2 oy o
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el ie 101,
B3, T 3 of TS0 =
(A} 75 (B) 30
(Cy 40 D 25
T e o7
9‘._ ]J-g: - E 102.
{A) 30 (B) 25
iC) 225 D) 108
95. Find the multiplier which will cauge a 108
number to increase it by 17%, ;
Ay 17.7 {8) 147
1y o) o117
% (J&-5)\55)=7
) & (B) 15 104
(C). 25 (D) Mone of thess L
97. 15=75% ol T
(A) 1025 (B) 225
€] 25 Dy 20 105.
88. A tradersells 10 chairs and 2 tables
for ¥ 7,000 to a customer and to
another customer he salls 10 chairs | g5
and 3 tables at the same price for
T 8,000. Find the: cost of & chair,
(&) TBOO (B} 7500
C) 400 @ 7300
99.  Mr. Singh invested T 19,000 in a 5%
sfock at 95 and sold it when ts price
hag tallen 15 80. Thus he lost
{A) T 1.000 (B) T100
Sy 7500 (D) T 200
100, Mr. Maveen invested T 19,000 in a 6%
stock at 85. Find the annual dividend
he geis,
{A) Ta00 (B) 1,000
(C) 1,200 {0} ¥1.500
Ax -3

The difference between the simple
interest and compound Interest on

T 100 at 10% for 2 years is
A T10 B) *1
C) %5 o Ti5

The ares of a square ks B4 85.cm. Find
ita perimatar,

[A) 16cm {B) Bem
(C) *2cm 0} 10sq.cm
-Atﬂnhmﬁpuupeaduf?!km

per hour. Find the distance it covers
n 10 minutes,

A) 7.2km (B) 10km
(G} 20 km (D) 12km
100" =7
{Al 100 (B) 10
1 Dy o
hﬂﬂﬁﬂlhﬂhﬁmﬁu?:mm
(A) 1245q.cm (B) 154sgcm
{C) 228g.cm @) 19sg.em
Pipe "X file & tank in 10 minutes.
Fipa Y™ fills that tank in 12 méirutes.
How much fime do these two pipes
togather take 1o fil the tank 7

120
] —Eﬁn’ﬁr ;

100

150 X m
© 5 minues

120 -
(o) Em [
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jiiiy Arithmetical and Numerical Ability

B1. A man makes his upward journay at
16 kmp and downward joumey at
24 kmp. What is his average speed

= inlomp ?
(a) 195 By 182
€] 19.4 Oy 20

g2, A number is Increasad by 10% and
then decreased by 10%. Than the
numibar
(&) Does nol change
{B) Increases by 1%
(C) Decreases by 1%
(B} Mone of these

B3, Ashop-keeper wants to sall his goods
at cost price, but usos a weight of
800 gm instead of a kilogram weight.

Thus he makes a gain of
(A) 2% B 8%
(C) 20% D) 25%

B4. At whal rate percent pes annum of
gimple interest will & eenain sum of
maoney bacome double in & years 7
(A) 20% (B) 25%
) 3k o 10%

B5. Inseling an aricls for ¥ 55 there is a
gain of 10%. The gain by salling that

for? 58 is
(A} 13% {B) 8%
<) 16% D 3%

86, By how much is the area of a sQuare
of side B cm increased when its side

is increased by 2em T
(A) 4sgcm (B) 16sgcm
(C) 20 sg.cm (D) 28sqg.om

A=

87. Wx =5 y=—2 whal is the value of
22 -3y ?
A B2 8) 38
{C) S0 (D) B0

. How many of the following numbans

ang divisible by 8 7
1231, 2367, 6462, 5354, 7020, 1341
A 3 B 4
<y 5 oy 2
The difference botween the place
wvalues of 7 and 3 in the numbar
S27435 is
(V-] B 4
{C) 45 (D) 6970
The three angles of a iangle are
(x+8)°, (@-3)" and x-3).
Thanx="7
(%) =0 B 40"
c) = 0} 1w’

g2

40 men can dig a trench 32 melres
tong in 16 days. How many days wil
B0 mian 1ake to dig a trench 12 matres

long 7
() 4
C) B

(B}

16

(o) 20

(8]

D)
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75. Statements : All birds ane animals.
Same animals are humans. All
humans are mammals.

Bonclusions : |. Somea humans ane
nal bingds.
I. Some birds ara
humans.

Ill, Some animals ane
not mammals.

. All animals are
mammals.

{A)  Only | and I foliow

{B) Either lll or IV follows
(C) Eitheror |l follows

{0} None of these

T6. Statements : Some roads ane [anee.
Some streets are roads. Some lanes
are highways,

Conchusions ;L Some roads are
streetls.

Il. Mo highway is streat.
L Some streets are not
roads.
V. Some lenes ang Not
roads.
(&) Only Il follows
(8] Oniy 11l follows
(S)  Only | follows
(D Owiy IV and NI follow

At Bl

77. In a class, Sneha is 4™ from th

balong to the group.

bottom. Harsha is 10M from the
I betwean them there are & siudaents
with warious ranks. How man
students are thera in tha class ?

Ay 25
(B 20
c) 30
(D) 28

Identify the one which does not
belong to the group.
&) Mend

(B} Rectify

(Cy Troubla

(0 Repair

|dentify the one which does not

(&) Syndicate Bank
(B) Corporation Bank
(C) South indian Bank
{0} Canara Bank

Five students are sitting in a row. Fis
sitting batween M and F. M is sitiing
il 1y B wiho s sitting on the extrarma
laft and Q) is sitting reod to R, Who are
sitting adiacent 1o M 7
{&) BandP
By PandG
(Cy PandR
Dy RandQ
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66. \What does ihe code iy riv snk" S2nd
for ?
i) Fise above challenge
(B) FRisa heaith chalengs:
i{C) Day rise challenge
(O} With rise challenge

ar. MImn{MfdlmhghEHMHnl
“acing” 7
() nop (B v
(Cy moi o) snk
B8, meufuwwngwnmm'
could be a code ?

(A} Problem every day

{B) Chalkenge with hialth

{C) With health day

{D) Every challenge {acing
W{ﬂ.ﬂmﬂ}: Study the fallowing
irformation ard answer these gquastions.

hB.&D.E.me:rMa circle
1mmntﬂ'|emﬂerawrmsahﬁrqsmorﬂ

ln!hhﬂiﬂhshmamlﬂlmFME
ely. D s 1o

Mam1mcmnmﬂdh
e right of A

69, Who ks third to the right of A7

w G B) D

icy E o B
70, Wha la facing B 7

(A ] B C

cy A oy F
7. Wha is 1o the right of D 7

w A B F

c) E m C
72 wnuhlwnhwmn'lanulF'?

m O B C

cy A oy E

b=

i, Al chairs BT
gither tablas of
cupboards.

M. Some chairs
poth tables a

cupkoands.
1y, Adlchalrsare

(A} Oniy | and IV loliows
1] wmnurmw
(9] Oy 1V followrs:
[{z]] Cnly | follows
w:&mewml
Mwﬂmmhﬁh.mm

1, Mo leal is br
. Some leaved
raots.

(&) Only | follows
(B Eithier |1 or il and | follow
(C) Only aither Il or 11| follows
(D Bnbflﬂlrw'md 1Nl fallow
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55.

-

57.

58.

B1.

n'l

1215241 g2, A word given in caphal letters
(n) 36 (2] 34 hrhuramnlm'd:.
IS 30 iy 18 mtyum:.amdba
jatters of The
Lun;:',qngm::bma.d: m::“w e
(A} Breadin g G INTERNATIONAL
(C) Broed o) Spread L
(&) NOTE By AL
Eind tha missing numoar from the (C) LATER {|n]
glven rasponses.
g 245 B3 mnuudmam.{mlﬂ!
3 g g ‘?; ane which toes not belong 1o
—_—— group)
o Tt
W 20 ® 12 - gt
c) 18 o 27 (C) Went @

Find the mEssing fumber from the

given responses (A} Maharashtra

4313 ® Cheenai

_1_2_56 (C) Kerala

w771 o Punjab

Ay 4 B 8

ic) 3 o) 8 Directions (Q. 85 fo 68) : Study
Fmdﬂwm'dﬁhqmm mnmwmﬂmm
504, 198, 66, qlvlﬂqq;allﬂ“.

(ay 33 (B 22 I 2 certain code —

(cy 44 o 1 Mpmmmﬂ\'um

Fismnbrmrmrninandﬁ.ism&
daughter of B. How s F retated o B 7
(A} Bromer-in-law (B) Son

(C) Uncla D) Son-irlaw

Arun travels 10 km wowards Norh,
From thera he travels 7 Jm towards
Soutin. Explain s final position from

e
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41

il} General Intelligence and Reasoning Ability

If e latbers in AGE are coded 88 135
= and in BAD are coded as 214, then

hesw can BED be coded 7

Ay 215 (B) 254

() 2456 (D} 345

if in & code language AND ig writtan
as BOE and RENT i3 wrillen ag
SFOLU, then how is DEAF written in
that code 7

{A) EFBG (B) FEBG
{C) EGBF (D) PQRS

Directions (2. 43 o 48) : Find the missing
numbersattars Trom the given reaponses.

43,

4,

46.

47,

A~

£ 8,13,17, . 25.

w27 B 23
c) =2 oy 19
BMO, GNP, DOG, _

Ay FAT (B) EPR
(G} EOR (D} BNS
410, 621,838 FE TN

(A} B45 | 723
(C] 854 (D) 743
1, 2975 Bt alem o
(A) 20 B 17
1cy 18 oy 21

Which one of the given responses
would bo meaningful order of tha
felloaing ?

1. Adult

2. Child

3. Infant

4. Boy

(B 2,314 8 32.41
(cy 1,2.3.4 (D) 34,21

4B, Which one of thi given Tesp
would be meaningful ordar of

521,43 B 254
2,5,1,4,3 oy 1,23

GEEEY L

Directions (0. 491052) + Find the odd
jettors‘number from this given Fresponses.

48, (A) refuse— ascoop!

(B) give—take
(C) ool —cool
(O] reward —punishment
50, (A) 20 (B) 64
Gy 27 oy 125
51 (b} 25,41 (B} 50,
S{C) 33,48 oy 12,
52, (A) DCFG (B) FEHI
(€) HGJK D) JH

Directions (. 53 to 56) : Select tha ré
lettaraiword/number from he gl
alematives.

53, ABG:123:BCD:
(A) 458 (B} 234
(C) 345 (o) 243

54, W:Tmﬁhﬂm:.lmgﬂ:
(&) Judgemant
(B) Lawyer
(C) Court
(D) Managemen
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31,

The _____ siretch of Rapid Metro
Fail Gurgaon Limited, India’s first fully
private funded Metre Rall Sysiem was
opened to the public on 14-11-2013,
(A) 6.1 km
(B} 5.1km
& 7.1km
(D} B.1km

Along with Master Blaster Sachin
Tendulkar, who was the other to
receive the India's highest civilian
award, Bharal Ratna 7
(&) Prod. C. N. R. Rao
{B) Prod. . N. R Rao
{C) Prot. E.N. R. Rao
(D) Prof. B.M. R. Rao

Which bank has the distinction of
beng the first ever public saclar Dank
to have been set-up by the
government (and inauguraled on
18<11-2013), as the others came into
being through nationalisation of
existing privale banks 7

{A) Bharat Mata Bank

{B) Bharatiya Maha Bank

{C) Bharatrya Mahila Bank

(D) Branat Mahila Bank

German Silver is an alloy of
(A} Copper. Silver and Zing
(B} Copper, Mickel and Zinc
(Cy Sikar, Tin and Zinc

(D) Siver, Mickel and Zinc

. The unit of currency, Dinar, is used

. Incian Constitution came into lonce

. In Indla, cne-rupese coins and

O T
Which of the following is the
metal 7
(A) Gold
(C) Platinum

{A) China
{B) Irag
{C) Brazil
(D) Thailand

(A) 15-B-1847
{B) 30-1-1948
(C) 26-11-1949
(D} 26-1-1950

Presant President of Indkan
{A) Ms. Prathibha Patil
(B} Dr. Manmohan Singh
(C)  Mr. Pranab Mukharjes
(D) Mr. Rahul Gandhi

Expand U.P.5.C.

(A} United Public Service

{B} Union of Private Servica
Commissions

(C) Union Public Service

(D) United Privaie Sarvice

and subgidiary 50-paisa coing
isued by

{A) FReserva Bank of Indla

(B) Central Govermnment

(C) State Bank of India

(D) The Unit Trust of iIndka
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gland 7

not true ?

] Wheat Is grown in Punjal

(B} Tea is produced in Assam

1C) Coffes is grown in Kamataka

1)1 Smmhp.ummdhﬂnﬂlﬂ
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